9700111
Revision
04/25/22

(ot

ENGINEERING

LC Pro 1” Spiral Carb Spacer (Weber Flange)
Part # 1033023

Install the Carburetor Spacer as follows:

1. Thread 5/16” x 2 ¥2” studs completely
into the manifold using a red Loctite.
Place Teflon (white) gasket over studs onto manifold.

Id
Place 1” carb. spacer onto manifold. & ToP
Place paper style gasket onto carb spacer.
Install the carb. onto manifold and
tighten using (4) flat washers and 5/16” nylocks. e
|

arwN

o

Install the throttle linkage using the spacers,
8mm bolts and washers to raise the linkage —
off of the manifold for correct placement with the carb.
7. Complete installation of fuel lines and other @
b

related components. \
8. Check for fuel leaks. O N

| @
b

This kit includes:

Qty. Description
1 Teflon Weber 32/36/38 Base Gasket.
4 5/16-18 Nylock .
6 M8 Flat Washer.
4 5/16-18 x2-1/2 Stud.
2 M8-1.25 x 30mm Hex Cap Screw.
2 Throttle Bracket Spacer - 3/4" OD x 1/3" ID x 1/2" Tall.
1 LCE Pro Spiral Spacer - 1" Weber Carb. Spacer (Weber to Weber Flange)
1 Weber 38 Base Gasket.
S IR AT T TR NI NI O T O R
mm— T[T 1 [ [ 1 [ 1 /71
CIJ 10 20 30 40 50 60 70 80 90 100 110 120

2031 Holly Avenue, Lake Havasu City, Arizona 86403
Office 928.505.2501 Fax 928.505.2503



